0-3 Factoring Polynomials

Factor each polynomial. 10. X2 — 5¢ + 6
1. 12x% + 4x
ANSWER:
ANSWER: (x—3)x—2)
4x(3x +1)
11.y2—5p+4
ANSWER:

2. 6x2y +2x - 4)(-1)
ANSWER: 12662 — 13x + 5
2x(3xy + 1)

) ANSWER:

3. 8ab”—12ab (3)6— 5)(2)6 _ 1)
ANSWER: 14. 11x> — 78x +7
4ab(2b - 3)

5 ANSWER:

4.x“+5x+4 (lx -1)(x —7)
ANSWER:

15. 18x2 — 31xy + 62
x+Dx+4) e

ANSWER:
5. y2 + 12y +27 (2x — 39)(9x — 2y)

ANSWER:
v+3)(y+9)
6.x% +6x + 8

ANSWER:
(x+2)(x+4)

7.37+ 13y +4
ANSWER:
Gy + Dy +4)

8. x> +51x + 14

ANSWER:
(Tx+2)(x+7)

9. 3x2+28x + 32

ANSWER:
Bx+4)(x+38)
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